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Write short answers 1o any FOUR parts.
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Wihiy dev wir s commenids in prugraimping?
Uraline evempee vespiremie
Whic h operators are wsesd D arabmatic operation™
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Write short answers to any FOUR parta

Worme twas rypres of comtgol statemem
Wilvwr s thee tpwe ool ivetend selectiimg etretipre™
Why dis we pesd conditional slatenen?
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What iu rricant b alaia stracture 7
Write shart answers (o any FOUR part.
Write symitan to declare an amray
Idennfy the ervor of s code
infalt-[2.34]
Deefine luncrien
What is meant by function argumenis?

Wt das yoss v aboul retirm hewvward?
Witat v meant by reusability of a funadion?
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What is Integrated Development Environment (DEYT Write the 1DLES for C-Language.

What i the difference between =, =,
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Write a program in C-Language that takes a number from use
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t ami prints table of that number (using loop)



